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Write an equation of the line in () slope-intercept form, (b) point-slope form, and (c) standard form
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Is the given point a solution to the system of equations? ( Show wevk !’ )
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Solve the linear system by substitution. Show all work.
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1) Write an equation of the line that passes through the given point and is parallel to the given line
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2) Write an equation of the line that passes through the given point and is perpendicular to the given line
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Solve the inequalities. Graph the solution.
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Evaluate the expressions
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Picture Frames You are purchasing wood to make 5 picture frames that are all the
same size. The expression 5(2x + 2y) represents the total amount of wood you need
to make the frames where x is the width of a frame (in inches) and y is the length of
a frame (in inches). Find the amount of wood you need to make the frames if each
frame is 8.25 inches wide and 10.5 inches long.
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Write an equation or inequality for the situations described

12) The sum of 7 and three times a number b is at least 12.

13) The sum of 14 and twice a number y is equal to 78.

14) Tpe product of 3 and a number x is at most 21.

15) The difference of 22 and the quotient of a number m and 4 is 54.
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Evaluate the function when x = -3 22
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Find the value of x so that the function has the given value.
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Solve the system of equations using whatever method is appropriate
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Write a rule for the function represented by the graph. Identify the domain

and range of the function.
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Give the most specific classification of each of the numbers. After, order them from least to greatest.

2336 : .
8) | -4.% @ \Yretional ~ o ivdeqer
e —6.2.5 _24 a"é-%taOko'IQ't'} N v
3 3 et | 5
2.5 yahionsd "lé‘ r*ac‘C\'ovx@Q.
& et IS B> \Q\i
-, -4 © =
b % % a‘s order:_~ (o ‘:-J'g A5 2.5
9) What %umber is 12% of 2257 br (&35\) S
Y
205 \00O
10) What percent of 160 is 128? 209,
58 _ X
(O 100
11) y = 2x — 2; domain: x 2 0
3J y , | Range q‘ 5/ - 9‘
Valwl L //
F*':}- i %
grap -1 e
2l :f..
¥ {sf -3
2 |
12) Bicycle Rental A bicycle rental shop rents bicycles for $8 per hour. Bicycle Rental
The total cost ¢ (in dollars) for renting a bicycle 4 hours is given by " _
the function ¢ = 8. Once you get to the rental shop, you figure you SR |
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Solve the absolute value equation.
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Solve the absolute value inequality. Graph your solution.
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7) Graph the system of linear inequalities.
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14) Find the zero of the function

f(x) =17x — 34 . w/
!_O%i{: \“]5&.%\“} L[} _ YE =

TR e L g%"ﬁn{g -’-



Tour d’Algebra Team Name;__ 124
Stage 5 Semester 1 0
Find the slope of the line through the given points
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Solve the equation, if possible

8)  4(3a+5)= %(24.:1-1—40)

(2430 = Qe+ 3L

9 —§d+1=9
-\ —|
B - A= -3
PO LR
_-24
2="3

im-Qn‘w%@u ;fm*é_

H=-1

(
A

Q

11. A caterer knows that 18 heads of lettuce are needed to make dinner salads for 90 people. How many
heads of lettuce are needed for a party of 150 people?
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Simplify the expression. Reduce answers and leave in fraction form if possible.
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